Oy Oy

I-spin
180°/3)L A
> 0

1 1 1 1 1 01 71 70

CS-term J-term refocused



S-spin
I S 180°/ /L A
X
s |
I
Oy O O
O > O
CS J (180° Sx) Cs J
-y -y -ly -ly -ly -ly
I:ZIXSZ
Ix Ix
I:ZIySz
21xSz —2IxSz —2IxSz —2IxSz
L.,
—2lySz —2lySz
I:Ix
— Ix Ix Ix — Ix Ix
I:ZIySZ
— Iy Iy
[721XSZ
21ySz —2lySz— -2lySz —2lySz
I:Ix
— 2IxSz 2IxSz
L,
Ordered Sorted

—Iy coswA cosmtJA coswA cosmJA
21xSz coswA cosmtJA coswA sintJA
Ix coswA cosmJA sinwA cosntJA
21ySz coswA cosmtJA sinmA sintJA
—2IxSz coswA sinmtJA coswA cosmJA
—Iy coswA sintJA coswA sintJA
—2lySz coswA sinmtJA sinwA cosmtJA
Ix coswA sinntJA sinwA sintJA

Ix sinwA cosntJA coswA cosmJA
21ySz sinwA cosntJA coswA sintJA
Iy sinwA cosntJA sinwA cosmJA
—2IxSz sinwA cosmtJA sinwA sintJA
—2IySz sinwA sintJA coswA cosnJA
Ix sinwA sinstJA coswA sinmtJA
2IxSz sinwA sinstJA sinwA costJA
Iy sinwA sinstJA sinwA sinstJA

Summarized

Ix 2 cosmA sinwA (cos’mJA + sin*tJA) = Ix sin2wA
~Iy (cos’mA — sin*wA)(cos’mJA + sin“JA) = —Iy cos2wA
2IxSz (cos’wA — sin*wA) (cosmtJA sinmtJA — cosmtJA sinmtJA) =0

21ySz 2 cosmA sinwA (cosmtJA sinttJA — sinstJA cosnJA) =0

Ix coswA cosmtJA sinwA costJA

Ix cosmA sinmtJA sinwA sintJA

Ix sinwA cosmtJA coswA cosmtJA

Ix sinwA sinztJA coswA sintJA

—Iy coswA cosmtJA coswA costJA
—Iy coswA sinmtJA coswA sintJA

Iy sinwA cosmtJA sinwA cosmJA

Iy sinwA sinntJA sinwA sinstJA
21xSz cosmA cosmtJA coswA sintJA
—2IxSz coswA sintJA coswA cosmJA
—2IxSz sinwA cosmJA sinwA sinJA
21xSz sinwA sintJA sinwA cosmtJA
2IySz cosmA cosmtJA sinwA sintJA
—2IySz cosmA sinrtJA sinwA cosmJA
2IySz sinwA cosntJA coswA sinstJA
—2IySz sinwA sinmtJA coswA cosmtJA

J-term refocused
CS-term not-refocused
CS-term not-refocused



I-spin/S-spin
180°/3)L A

] >

Oy Oy ()

CS J

-y -y -ly

— Ix Ix

21ySz

Ordered

Iy coswA cosmtJA coswA cosmJA
—21xSz coswA cosmtJA coswA sintJA
—Ix cosmA cosmtJA sinwA cosmtJA
—2IySz coswA cosmtJA sinwA sintJA
—2IxSz cosmA sintJA coswA cosmtJA
—Iy coswA sinmtJA coswA sintJA
—2IySz coswA sinmtJA sinwA costJA
Ix coswA sintJA sinwA sinztJA

Ix sinwA cosmtJA coswA cosmtJA
2IySz sinwA cosmtJA coswA sinstJA
Iy sinwA cosmJA sinwA cosnJA
—2IxSz sinwA cosmtJA sinwA sintJA
21ySz sinwA sinmJA coswA cosmtJA
—Ix sinwA sinstJA coswA sinstJA
—2IxSz sinwA sinmJA sinwA cosmJA
—Iy sinwA sinmtJA sinwA sintJA

Summarized

(180° Ix + 180°

21xSz

Sx) CS J

Iy Iy

—2IySz

—21xSz —2IxSz —2IxSz

Iy
—2lySz —2lySz

I

bl

I

>

2lySz
— Iy Iy
—2IxSz

2lySz — 2lySz 2lySz

1 1 1 1 1 1 71

-Ix

L— 2IxSz I:—ZIXSZ

Iy
Sorted
—Ix coswA cosmtJA sinwA costJA
Ix coswA sinmtJA sinwA sinmtJA
Ix sinwA cosmJA coswA cosmJA
—Ix sinwA sintJA coswA sintJA
Iy coswA cosmtJA cosmA cosmtJA
—Iy coswA sinmtJA cosmA sintJA
Iy sinwA cosmtJA sinwA cosmtJA
—Iy sinwA sinstJA sinwA sinJA
—2IxSz cosmA cosmtJA coswA sintJA
—2IxSz cosmA sintJA coswA cosmJA
—2IxSz sinwA cosmtJA sinwA sintJA
—2IxSz sinwA sinmtJA sinwA costJA
—2IySz cosmA cosmtJA sinwA sinstJA
—2IySz coswA sinrtJA sinwA cosmtJA
2IySz sinwA cosmtJA coswA sinstJA
2IySz sinwA sinmtJA coswA cosmJA

CS-term refocused

—Ix cosmA sinmA (cos*tJA — sin’mtJA — cos*tJA + sin’mtJA) = 0

Iy (cos’0A + sin*wA)(cos’mtJA — sin’mtJA) = Iy cos2m)A
—2IxSz (cos’mA + sin’wA) 2 sinstJA cosmtJA = —2IxSz sin2nJA

J-term not-refocused
J-term not-refocused

—2IySz 2 coswA sinmA (cosntJA sintJA — cosntJA sintJA) =0



X x Y X X FID
H HSQC
I A A A A ‘
A=1/4))
X X X X
S [] t1 [] decoupling
[T
Oy O O, O3 04 Os Os
O > O
CS J (180° Ix+180° Sx)  CS J
Iy — -y -Ty Iy Iy Iy
|:721sz
—Ix —Ix
I:—ZlySz
21xSz —2IxSz —2IxSz —2IxSz
[,
—2lySz —2lySz
I:Ix
— Ix Ix Ix — Ix Ix
I:ZIySZ
— Iy Iy
[721XSZ
21ySz 2lySz — 2lySz 2lySz
I:—Ix
— -2IxSz —2IxSz
L,
Ordered Sorted

Iy coswA cosmtJA coswA cosmJA
—2IxSz coswA cosmtJA coswA sintJA
—Ix coswA cosmtJA sinwA cosmtJA
—2IySz coswA cosmtJA sinwA sintJA
—2IxSz coswA sintJA coswA cosmtJA
—Iy coswA sinmtJA coswA sintJA
—2IySz coswA sinmtJA sinwA costJA
Ix coswA sinmtJA sinwA sintJA

Ix sinwA cosmtJA coswA costJA
2IySz sinwA cosmtJA coswA sinstJA
Iy sinwA cosmJA sinwA cosnJA
—2IxSz sinwA cosmtJA sinwA sinrtJA
21ySz sinwA sinmJA coswA cosmtJA
—Ix sinwA sintJA coswA sintJA
—2IxSz sinwA sinmtJA sinwA cosmJA
—Iy sinwA sinmtJA sinwA sintJA

Summarized

—Ix coswA cosmtJA sinwA costJA

Ix coswA sinmtJA sinwA sinmtJA

Ix sinwA cosmJA coswA cosmJA

—Ix sinwA sintJA coswA sintJA

Iy coswA cosmtJA cosmA cosmtJA

—Iy coswA sinmtJA cosmA sintJA

Iy sinwA cosmtJA sinwA cosmtJA

—Iy sinwA sinstJA sinwA sinJA
—2IxSz cosmA cosmtJA coswA sintJA
—2IxSz cosmA sintJA coswA cosmJA
—2IxSz sinwA cosmtJA sinwA sintJA
—2IxSz sinwA sinmtJA sinwA costJA
—2IySz cosmA cosmtJA sinwA sinstJA
—2IySz coswA sinrtJA sinwA cosmtJA
2IySz sinwA cosmtJA coswA sinstJA
2IySz sinwA sinmtJA coswA cosmJA

—Ix cosmA sinmA (cos*tJA — sin’mtJA — cos*tJA + sin’mtJA) = 0
Iy (cos’0A + sin*wA)(cos’mtJA — sin’*mtJA) = Iy cos2m)JA =0

—2IxSz (cos’mA + sin’wA) 2 sinstJA cosmtJA = —2IxSz sin2mJA = —2IxSz

(A=1/43)
(A =1/43)

—2IySz 2 coswA sinmA (cosntJA sintJA — cosntJA sintJA) =0



X X y X X FID
H HSQC
I A A A A ‘
A=1/4))
X X X X
S [] t1 [] decoupling
[T
Oy Oy O, O3 04 Os 3
O3 > 94
CS J (180° Ix) Cs J
—2IzSy — -2IzSy —21zSy 21zSy 21zSy 21zSy
I:—Sx
—2IzSx —21zSx
[,
Sx Sx Sx Sx
I: 21zSy
Sy Sy
I:—ZIZSX
— 2IzSx 21zSx —2IzSx— -21zSx —21zSx
[,
L— 21zSy —21zSy
I: Sx
Sy Sy = Sy Sy
I:—ZIZSX
— -Sx -Sx
|:—2IzSy
Ordered Sorted

21zSy coswA cosmtJA coswA cosmtJA
—Sx cosmA cosmJA coswA sintJA
—21zSx coswA cosmtJA sinwA cosntJA
=Sy coswA cosmtJA sinwA sintJA

Sx coswA sinmtJA coswA cosmtJA
21zSy coswA sinstJA coswA sinstJA
Sy coswA sinrtJA sinwA cosnJA
—21zSx coswA sinmtJA sinwA sintJA
—21zSx sinwA cosmJA cosmA cosmtJA
—Sy sinwA cosmtJA coswA sintJA
—21zSy sinwA cosmtJA sinwA cosntJA
Sx sinwA cosmtJA sinwA sintJA

Sy sinwA sinztJA coswA costJA
—21zSx sinwA sintJA coswA sintJA
—Sx sinwA sinstJA sinwA cosmtJA
—21IzSy sinwA sinmtJA sinwA sintJA

Summarized

—Sx coswA cosmtJA cosmA sinstJA

Sx coswA sinmtJA coswA costJA

Sx sinwA cosmtJA sinwA sintJA

—Sx sinwA sinrtJA sinwA cosmtJA
=Sy coswA cosmtJA sinwA sintJA

Sy cosmA sintJA sinwA cosmtJA

—Sy sinwA cosmtJA coswA sinrtJA

Sy sinmA sinrtJA coswA cosmtJA
—2IzSx coswA cosmJA sinwA cosmJA
—2IzSx coswA sinmJA sinwA sintJA
—2IzSx sinwA cosmJA coswA cosmJA
—2IzSx sinwA sinztJA coswA sinmJA
21zSy coswA cosmtJA coswA cosmtIA
21zSy cosmA sintJA coswA sintJA
—2IzSy sinwA cosmtJA sinwA costJA
—21zSy sinwA sinmtJA sinwA sintJA

—Sx (cos’mA — sin*wA) (cosmtJA sinmtJA — sinrtJA cosntJA) = 0

=Sy 2 coswA sinwA (cosrtJA sinntJA — sinstJA cosntJA) =0

—217Sx 2 coswA sinwA (cos*tJA + sin’mJA) = —21zSx sin2mA = —21zSx sinw t1
21zSy (cos’A — sin“wA)(cos*tJA + sin’mJA) = 21zSy cos2wA = 21zSy cosw t1

(A=t1/2)
(A=t1/2)



X x Y X X FID
H HSQC
I A A A A ‘
A=1/4))
X X X X
S [] t1 [] decoupling
[T
Oy O O, O3 04 Os Os
Os > O
CS J (180° Ix+180° Sx)  CS J
—2IySz — -2IySz —2IySz —2IySz —2IySz —2IySz
I:Ix
2IxSz 2IxSz
L,
Ix Ix Ix Ix
I:ZIySZ
Iy Iy
I:—ZIXSZ
— 2IxSz 2IxSz —2IxSz— -2IxSz —2IxSz
L,
L 2IySz —2IySz
I:Ix
Iy -ly — —ly -y
I:ZIXSZ
— Ix Ix
I:ZIySZ
Ordered Sorted

—2IySz coswA cosmtJA coswA cosmtJA
Ix cosmA cosmtJA coswA sinmtJA
2IxSz coswA cosmtJA sinwA cosnJA
Iy coswA cosmJA sinwA sintJA

Ix coswA sinmtJA coswA cosmt]A
21ySz coswA sinmtJA coswA sinmtJA
Iy coswA sinmtJA sinwA cosnJA
—2IxSz coswA sinmtJA sinwA sintJA
—2IxSz sinwA cosmtJA coswA cosmJA
—ly sinwA cosnJA coswA sinrtJA
—2IySz sinwA cosmtJA sinwA cosnJA
Ix sinwA cosmtJA sinwA sinmtJA

—lIy sinwA sintJA coswA cosmtJA
21xSz sinwA sinrJA coswA sinrtJA
Ix sinwA sinztJA sinwA costJA
2IySz sinwA sinmJA sinwA sintJA

Summarized

Ix (cos’wA + sin*wA) 2 sintJA costJA = Ix sin2nJA = Ix
Iy 2 coswA sinwA (cosmtJA sinstJA — cosmtJA sintJA) =0

Ix coswA cosmtJA coswA sinstJA

Ix cosmA sinrtJA coswA cosmtJA

Ix sinwA cosmtJA sinwA sintJA

Ix sinwA sinztJA sinwA cosmJA

Iy coswA cosmJA sinwA sintJA

Iy coswA sinmtJA sinwA costJA

—ly sinwA cosnJA coswA sintJA

—ly sinwA sinmtJA coswA cosmJA
21xSz coswA cosmtJA sinwA cosmtJA
—2IxSz coswA sinmJA sinwA sinzJA
—2IxSz sinwA cosmJA coswA cosmJA
21xSz sinwA sintJA coswA sintJA
—21lySz cosmA cosmtJA coswA cosmJA
2IySz coswA sintJA coswA sintJA
—2lySz sinwA cosntJA sinwA cosmJA
2IySz sinwA sinmtJA sinwA sintJA

(A= 1/4T)

21xSz cosmA sinwA (cos*tJA — sin’*7tJA — cos*mJA + sin’mJA) = 0

—2IySz (cos’mA + sin’wA)(cos’mJA — sin’mJA) = —2IySz cos2mJA =0

(A= 1/4)



X X y y... X X X FID

] TROSY
I A A A Al A A ‘
A=1/(4)g)
X y... X y X X...
S tl
o, O, 0, 0; 0,05 00 Oy
0y —>» O —>» ¢ ——>» 97 —> O3
CStDI(t1) (90° Iy) I(2A) (90° Ix +90° Sy) J(2A) (90° Sx)
21z2Sx ——  2IxSx — 2IxSx — -2IxSz 2IxSz —  2IxSy
I: y ——— Iy
Sy — Sy -Sy — Sy Sy — Sz
I: —2IxSz ——  2IxSy
21z2Sx —  2IySz 2lySz —  2IySy
|: —Ix — Ix
2128y — 2IxSy — -2IxSy —— -2IxSy —2IxSy — 2IxSz
—Sx — S -Sx — Sz —Sz  ———F Sy
I: 21z2Sy —— 2lySy —2lySy ——— -2IySz

Observed

Iy coswtl cosmltl sinmJ2A = Iy coswtl cosmJtl

—Ix coswtl sinztJt] sinstJ2A sinmtJ2A = —Ix coswt] sinswJtl
21xSz sinwt]1 cosmltl

—2IySz sinwtl sinztJtl sinJ2A = -21ySz sinwt1 sinmJtl

Phase cycling is necessary for TROSY!



I/S 2-spin system

Product Operator Calculation Guide

Pulses

I D /N)V AEZ I-spinic @&, S—spin &I ITEHT %

B° )
Iz 1z cosp
I: —Iy sinf
B° )
Ix — Ix
(B° Ix)

Iy I: Iy cosp
1z sinf

Chemical Shift

B° Iy
Iz 1z cosp
I: Ix sinf3
(B° Iy)
Ix Ix cosf
I: —Iz sinp
(B° Iy)
Iy — Iy

It 7 FEIE I-spinic d &, S—spin &FMSTICERT S

(ot 12)

1z — Iz

J-coupling

(gt 1z)

Ix I: Ix cosmt
Iy sinw;t

J 11X I-spin, S—-spinfFEEHIZERT %

(mJ st 1zSz)
Iz — Iz
2IxSx —  2IxSx
2IxSy —  2IxSy
2IySx — 2IySx
2IySy — 2IySy
2IxSx —  2IxSx

21zSz — 21zSz

(ot 12)

Iy I: Iy cosmqt
—Ix sinw;t

() st 1zSz) (mJ st 1zSz)
Ix —  Ix cosmJst Iy — Ly cosmJigt
L 2IySz sinm) gt L —2IxSz sinmJgt
2IxSz — 2IxSz cosmlst 2lySz — 2lySz cosmlst
L— Iy sinmJgt - —Ix sinmJt
Sx  — Sxcosmlgt Sy — Sy cosmlgt
L 21zSy sinm) gt L —2IzSx sinmJgt
21zSx —  2IzSx cosmlst 21zSy —  2IzSy cosmlst
L L—  —Sx sinmlgt

Sy sinmt]gt




